GCSE Geography Revision list
Monday 13th June – Morning
Geography (SPEC B) Unit 1 – 1 hour (30%)

Two compulsory structured questions, one from Theme 1 and one from Theme 2, each containing a choice of case study.

Theme 1: Challenges of living in a built environment.

Theme 2: People and the natural world interactions.

Friday 17th June – Morning

Geography (SPEC B) Unit 2 – 2 hours (45%)

Section A

One compulsory structured question from Theme 3 containing a case study.

Theme 3: People, work and development

Section B

A cross-unit problem solving exercise structured in three parts. Will contain questions any two of three themes
Controlled Assessed Task 25%
CASE STUDIES: HIGHLIGHTED IN YELLOW IN SEPARATE REVISION DOCUMENT
EXAM 
1
Theme 1: Challenges of living in a built environment

1. Quality of life and standard of living
Standard of living: refers to the degree to which the needs and wants of a community are satisfied.
Quality of life: A measure of how happy and content people are with their lives. 
Quality of life and standard of living can vary between rural – urban and MEDC – LEDC.

Remember you can be the richest banker in London with a HIGH standard of living, but not be happy and therefore a LOW quality of life.

You could live in a slum in Mumbai with a very LOW standard of living because of lack of food and clean water, but be very happy with your life and therefore a HIGH quality of life 
2. Inequalities in housing (Swansea transect)

Urban transect in Swansea
Quality of life coursework
C.B.D: Central business district (area in the city centre)

Inner city: Areas of older residential and industrial development which is next to the CBD.

Outer city: Areas of newer and larger residential areas.
Rural – urban fringe: The area where countryside meets city.
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3. Inequalities in service provision (Shopping)

4. Changing a service (Sustainable living)

5. Planning issues (Regeneration)

6. Urbanisation and counter urbanisation (Migration)

7. Problems of leisure in a rural area (National Park)

Urban zones are also characterised by differences in Housing Tenure (whether the properties are owner occupied or rented from council or private landlords). The pattern of housing tenure reflects the socio- economic status of the residents – what profession / job / income – workers (Electricians, Plumbers i.e. people who work with their hands who have gained vocational qualifications). Unskilled manual workers and immigrant ethic groups occupy cheaper priced properties. Higher income earners are more capable of securing mortgages from building societies to buy higher priced properties.
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3. Inequalities in service provision (Shopping)
McArthur Glen Retail Park Bridgend 

Access to service: Measurement showing how easy it is for some one to obtain a facility.
Low order goods: Every day items like bread and milk that are inexpensive.

High order goods: Products that are not bought very often but are very expensive like a plasma TV.
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Shopping services differ in their order and distribution within cities.

Small corner shops offering low order goods (newspapers/cigarettes etc) are widely distributed in inner city areas where many people are without cars and need access to day-to-day requirements.

Small shopping parades (clusters of small shops with some middle order specialist services e.g. chemists / hairdressers) found at the junctions of trunk roads – often at the border between inner city and inner suburbs.

These shopping parades serve a larger population than corner shops and thus offer a wider range of goods and services.

City and town centres with shopping malls and pedestrian precincts offer specialist high order goods and services form department stores / restaurants / finance companies etc.

These serve a large threshold population which extends beyond the city. The central position of these shops and services at the focus of road and rail links made them accessible to all groups of people, as long as they have the necessary income.

Out of town hyper-markets and retail parks. These are a fairly recent type of development. They offer high order goods and retail services. They’re position outer ring roads and close to bypasses, to make them accessible to car owners from the whole city. Out of town sites allow room for expansion. Groups of low income / unemployed / senior citizens are often unable to use these centres because they don’t own cars
Key questions
What age group are likely to use each retail sector?

What are the advantages and disadvantages of each retail sector?
Changing a service (Regeneration)
Cardiff Bay
Urban decay: A built up area, such as a town or city that has become run down over a period of time.

Regeneration: Renewing and improving something that has become run down.
Cardiff Bay was an area that had large parts of urban decay so the government decide to regenerate the area. They have been many positive and negative aspects of the scheme that have many people in different ways.
Decide if the following people are for or against the scheme and give reasons to support your answer

1. Local residents

2. Unemployed

3. RSPB


4. Professionals

5. Water sports groups
6. School leavers

Planning issues (Sustainable living)
Curitiba Brazil
Greenfield site: is a term used to describe undeveloped land in a city or rural area either currently used for agriculture or landscape design or left to naturally evolve. 
Brownfield sites: are abandoned or underused industrial and commercial facilities available for re-use. 
Sustainable development: Development that meets the needs of the present, without compromising the ability of future generations to meet their own needs.
Urbanisation and counter urbanisation (Migration)
Poland – UK
Mexico – USA
MEDC: More economically developed countries.
LEDC: Less economically developed countries.
MIGRATION: Movement of population from one area to another.
PUSH FACTORS: Reasons that make you want to leave a country.
PULL FACTORS: Reasons that attract you to a new country.
URBANISATION: A process where the number of people that lives in towns and cities increases.
COUNTERURBANSISATION: A process where people that once live in towns and cities move to the country side
In the developed world (MEDC’s) people move within different residential zones as their economic status and age changes – i.e. may be born in the inner city / get a job – move to the suburbs / children grow up – retirement – move to a smaller home / bungalow in a rural area. In the developing world (LEDC’s) people move to cities because of PUSH FACTORS from the country side and because of PULL FACTORS from the cities. (Look these up in your books) Rapid City growth is not only leading to the growth of squatter settlements but also causing huge problems for city authorities trying to provide water, healthcare and jobs.

Problems of leisure in a rural area (National Park)

Snowdonia National Park

Three Peaks National Park
Conflict: Where two more groups may argue over issues in an area
Key questions
· Why do urban dwellers seek increased access to rural areas?

· What conflicts arise?

· How can rural environments under pressure from visitors be managed to ensure a sustainable future?
Theme 2: People and the natural world interactions

Contrasting pressure systems and people
Katrina (DEPRESSION/HURRICANE)

EUROPE SUMMER 2003 (ANTICYCLONE)
Atmospheric pressure: is the weight of the atmosphere as it presses down onto the earth’s surface.  It is measured in Millibars (mb) using a Barometer. High pressure (ANTICYCLONE): is usually the result of an influx of cold, heavy air, or of air being forced downwards from high in the atmosphere.
Low Pressure (DEPRESSION): is generally caused by rising air – for example when it is warmed.  This results in condensation and the formation of clouds and precipitation.

The passage of weather associated with a depression.

Britain experiences low pressure weather systems called depressions frequently.  Depressions bring unsettled, wet, windy weather.  However, as a depression passes over Britain moving from the west to the east there are distinct changes in temperatures, cloud type and amount, precipitation type and amount, wind direction and wind speeds.  The changes are as follows:

1. Ahead of the warm front:
Temperature - as the air is generally cold ahead of the warm front temperatures are cool.  Cloud amount/type – as the air is cool there is little evaporation and condensation so the clouds are very high and thin (Cirrus, Cirrostratus, Altostratus).  Precipitation – the lack of warm rising air and rain-bearing clouds means there is no precipitation.
Wind speed/direction – winds are generally light. 

2. In the warm sector:

Temperature – as the air is warmer between the fronts the temperature is generally warmer.  Cloud amount/type – as the air is warmer, evaporation and condensation take place giving low, dark, thick clouds (stratus).  Sometimes the cloud can become thin and the sun will shine through the clouds weakly.  Precipitation – the evaporation and condensation gives drizzle.  Wind speed/direction - winds becoming stronger
3. Behind the cold front: 

Temperature – as the air is generally cold behind the cold front, temperatures are cooler.  Cloud amount/type – the clouds become fewer and smaller than those at the cold front.  The clouds are cumulus with flat bases and white tops.  Often there are sunny intervals between the broken cloud.  Precipitation – Showers are heavy and frequent behind the cold front.  They become increasingly less frequent and intense.

Wind speed/direction – winds becoming lighter. 
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High Pressure Areas – ‘Anticyclones’

In Britain anticyclones are experienced far less frequently than depressions but, once established, they can remain stationary for several days and, under extreme conditions, even weeks.

In an anticyclone, air descends and pressure increases.  Winds are very light and blow in a clockwise direction.  At times they may even be non-existent and give periods of calm.  As the air descends it warms and is able to pick up more moisture through evaporation.  This usually results in settled conditions with little cloud, clear skies and a lack of rain.

However, there are differences between summer and winter anticyclones.

In summer, the absence of clouds gives very warm, sunny conditions during the day although at night, when clear skies allow some of this heat to escape, temperatures can fall rapidly.  As air next to the ground cools, condensation can occur and dew and mist may form.  Thunderstorms are also a risk (convectional rainfall) under ‘heat-wave’ conditions.

In winter, although temperatures remain low during the day, due to the sun’s low angle in the sky, the weather is likely to be dry and bright.  The rapid loss of heat under the clear evening skies means that nights can be very cold.  Condensation near to the ground can produce frost and fog which may, due to the sun’s lack of heat, persist all day.

In winter anticyclones can affect Western Europe.  They are caused as the continental land mass cools chilling the air above causing it to sink.  This causes high pressure at the surface.  It brings with it clear skies and often some of the coldest weather we experience

Climate change
Climate change: Earths climate has gone through periods of warming and cooling over 100,000’s of year.
Greenhouse effect: Is the process where the atmosphere retains the sun energy / heat. (This process has increased due to human actions)
Greenhouse gases: Gases in the earth’s atmosphere, both natural and man made that absorb outgoing radiation. i.e CARBON DIOXIDE, METHANE, NITROUS OXIDES AND CFC’s
Global warming: Is the warming of earth’s atmosphere mainly due to human activities.

[image: image2.emf]
The greenhouse effect shown above is naturally occurring process without it the world would not survive. Human activity (BURNING FOSSIL FUELS) has caused this process to increase dramatically which has lead to warming of the earth.

Acid rain
[image: image10.png]



One of the main issues that is associated with acid rain that one country can cause the problem and another country can receive the impacts because of the gases can be blown large distances by the wind.
Changing ecosystems
Human exploitation Amazon rainforest
Ecosystem: Is a group of living things plus the non-living things they need. The parts of an ecosystem are linked together.
Inputs:
The inputs into an ecosystem may be water, CO2 (carbon dioxide), O2 (oxygen), matter, nutrients.

Processes:
Processes can be transpiration, growing, eating, absorption, respiration, photosynthesis, etc.

Outputs:
Outputs are waste or unwanted products such as O2 (oxygen), water, dead matter, CO2 (carbon dioxide).
Understand that ecosystems operate at a variety of scales- local, regional, national and global.

How changes can affect their structure, i.e. if an organisms if removed from the ecosystem then the whole ecosystems can be affected.

What are the consequences of this change? The ecosystem can break down, or large increase/decrease in numbers of organisms within the food web.

Water supply
Hydrological (water) cycle: is the continuous transfer of water from the seas into the atmosphere, then onto the land, into rivers, and back to the seas.
Drainage basin system: is the catchments area from which a river system obtains its supplies of water.

Evaporation: the transformation of water liquid to water gas (or vapour) by energy from heat or air movements.

Evapo-transpiration -total moisture lost through evaporation and transpiration.
Transpiration: the loss of water from plants through the stomata in the leaves. 
Condensation: -the formation of water droplets or ice crystals from water vapour when it is cooled to the dew point. 
Precipitation: movement of water from the atmosphere to the earth’s surface.
Surface Runoff: when water runs over the surface of the earth
Interception: is the process where vegetation catches precipitation before it hits the ground.
Infiltration: movement of water from the surface into the soil.
Percolation: movement of water from the soil into the rock.
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The hydrosphere:

Hydrosphere – water in the atmosphere, on the land and in the sea.

How is water transferred and stored – the hydrological cycle.
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Drainage Basins:

River discharge: Is the amount of water that is being carried by the river
Key questions (storm hydrographs)

Why is there a lag time between the start of a storm and the peak discharge on a storm hydrograph?

What effect do the following have on flooding and on the shape of the storm hydrograph?

You must have the ability to understand what happens to water within a drainage basin. What happens if: - deforestation / impermeable rock / permeable rock / steep valley sides / urbanisation / intense rainfall and saturated ground.
Water deficit
Las Vegas

Sahel (Desertification)
Water deficit: Is an area of land that needs/uses more water than it receives naturally

Desertification: Is the spreading of deserts, land that was once arable (farm land) cannot support crops.
Water surplus 
Boscastle 2004
Water surplus: Is an area of land that receives more rainfall that it needs or uses and therefore causes a flood event.
Interdependence

Interdependence: is the condition of a group of people or things that all depend on each other.
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How might a sustainable supply of water be provided?

International co-operation

It is not just annual climatic change and rainfall variation that causes problems with
water supply. Particularly in richer countries, we have increased our demand for
water. Meeting the increased demand sometimes relies on the transfer of water from
one place to another, often across country boundaries. Any such transfer would

be via a series of pipes and canals from areas with a surplus of water (more than
enough) to those having a water deficit (too little).

Go Active

Look at the information on Barcelona’s water supply in
Figure 19.

1 Make two lists: one of solutions that will help provide a
sustainable water supply in the future and the other of

k ‘ those that you feel are unsustainable.
2 For each solution, explain why you feel it is either

sustainable or unsustainable.

How big should a scheme be?

Governments in many of the world’s countries have developed large-scale, multi-
purpose water schemes. These schemes involve damming major rivers to create
huge lakes.

They have a number of advantages and disadvantages:

Advantages Disadvantages

Prevention of flooding Drowning of settlements under the lake

Provision of water for farms and Reduction in natural supply of fertiliser

houses to farmland

Generation of electricity Reduction of water supply further down
river

Attraction of secondary industry Destruction of land and river habitats

Expensive to set up and operate





Landform development 
Rivers

Meanders – (Bridgend, River Ogmore)

Waterfall – (Niagara Falls)

Ox Bow Lake 

Oceans

Wave cut platforms – (Southern Down)

Caves, arches, stacks and stumps
Rivers
Erosion

· Attrition – where material is moved along the bed of a river, collides with other material, and breaks up into smaller and smaller pieces.

· Corrasion – fine material rubs against the river bank.  The bank is worn away, by a sort of sandpapering action called abrasion.

· Corrosion – some rocks forming the banks and bed of a river are dissolved by acids in the water.
· Hydraulic action – the sheer force of water hitting the banks of the river.
Transportation
· Traction – where large rocks and boulders are rolled along the river bed.

· Saltation – where smaller stones are bounced along the river bed in a leap frogging motion

· Suspension – where very small grains of sand or silt are carried along with the water

· Solution – where some material is dissolved (like sugar in a cup of tea) and is carried downstream

[image: image15.jpg]Chapter 11 Patterns of employment

How is technology changing the way
we work?

The world of work is changing fast. The government
believes that as many as seven out of ten children
who are starting primary school today will eventually
work in jobs that haven’t been invented yet! Find that
hard to believe? Just consider some of the jobs that
we take for granted today. For example, when you
surf the web you are viewing pages designed by web
designers: a job that didn’t exist in the 1980s. Figure
6 shows another example of how technology is
changing the workplace.

Figure 6 A computer-generated image (CGI) from King Kong. An
example of one of fhousands of new jobs created by computing

Technological change is having a massive LZAlS Key |
impact on all sectors of the economy. [ oo |
Mechanisation, which is the increased use of 5 B 50-59% ‘
machines to replace human labour, has been a % ” | B 40-49%
major cause of job losses on many European | B930-39%
farms and factories. At the same time, new | = 0-20%

computer and communication technology is

creating new jobs in some service industries.

For example, the growth of some of the world’s
fastest-growing businesses is connected

directly to growth in the internet. Google™,

the search engine, and eBay, the online auction ¢ 500
site, have grown rapidly since the mid-1990s as
a direct result of the increased interniet access
of consumers like you and me.

kilometres

Figure 8 The growth of retail sales over the infernet in the UK Figure 7 Percentage of the population of Europe with infernet
access (2007)

Year | % UK households | % of all UK | £ billions spent
with broadband | retail sales | on online
connection made online | purchases
2003 |11 ji5 9.2 7 a) Working with a partner, suggest a list of jobs
that you think might be associated with
ol 23 2 each of the following industries:
2005 |32 4.1 21.4 i) fashion
i) the film indust
2006 | 44 60 no data iiii) travel and tourgm.
2007 | 57 7.0 no data b) Now imagine you could go back in time to
1990, a time before most people had
P mobile phones, powerful graphics on their
pctivity computers, or access to the internet.

6 a) Study Figure 8 and suggest an enquiry Suggest how some of the jobs you have
question or hypothesis linking the three sets identified would have been different without
of data. this modern technology.

b) Choose a suitable technique to graph the data.
€) Comment on the pattern shown on your 8 Look at Figure 7.
graph. Explain what it shows. a) Describe the distribution (see page 25) of
d) Use the available data to make an estimate internet access in Europe. —
of the value of online purchases in 2006 and b) Suggest reasons for the pattern that you
2007. Sees
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Upstream – steep slopes / narrow bed / steep gradient / straight narrow channel.

Downstream – Gentle slopes / wider channel and floodplain / meanders.  
Long profile of a river

The source of a river is often - but not always - in an upland area. Near the source, a river flows over steep slopes with an uneven surface. It often flows over a series of waterfalls and rapids. Highland areas are usually composed of hard igneous rocks, which are ideal for forming such features.

As it flows down the steep slopes the water performs vertical erosion. This form of erosion cuts down towards the river bed and carves out steep sided V-shaped valleys.

As the river flows towards the mouth, the slopes become less steep. Eventually the river will flow over flat land as it approaches the sea. 

The discharge (amount of water flowing) will increase as the river approaches the sea

Near the source of a river there is more vertical erosion as the river flows downhill, using its energy to overcome friction (A). As a result the channels are narrow and shallow and may contain large boulders and angular fragments eroded and weathered from the steep valley sides. The sediment in the river creates turbulence and friction.

As the river approaches the mouth, velocity and energy increase due to increased discharge. The river performs more lateral erosion making the channel wider, and smoother (B) and (C). As a result there is less turbulence and friction, making the flow of water more efficient.

Coastal processes and landforms
Waves can be destructive or constructive.

When a wave breaks, water is washed up the beach - this is called the swash. Then the water runs back down the beach - this is called the backwash. With a constructive wave, the swash is stronger than the backwash. With a destructive wave, the backwash is stronger than the swash.
Destructive waves

[image: image3.png]High wave in Atall breaker:

proportion to length It breaks downwards
with great force





The effects of a high wave

· Destructive waves are created in storm conditions.

· Are created from big, strong waves when the wind is powerful and has been blowing for a long time. 

· Occur when wave energy is high and the wave has travelled over a long fetch.

· Tend to erode the coast. 

· Have a stronger backwash than swash. 

· Have a short wave length and are high and steep.
Constructive waves
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The effects of a low wave

· Constructive waves are created in calm weather and are less powerful that destructive waves. 

· Break on the shore and deposit material, building up beaches. 

· Have a swash that is stronger than the backwash. 

· Have a long wavelength, a low height.

Landforms and people

Water management in the U.K:

Know why supply is greater in the North and West – Heavier rainfall / Impermeable rocks / Narrow deep valleys suitable for damming / surface supplies.

Why supplies are short in the South and East – lower rainfall / more cities and industrial demand / underground supplies in artesian basins running short as the water table drops due to excess demand.

What is the work of water authorities?

People interrupt the water cycle to satisfy their needs for water supply by:

· altering the water STORE – building dams and reservoirs

· Altering the water TRANSFER – laying pipes and building aqueducts

Exam 2
YOU REVISE EVERY THING

THE ONLY CASE STUDY QUESTIONS ARE FROM THEME 3
Theme 3: People, work and development

Employment structure
Key Question1.1 in what different ways do we present information about employment?
We saw that employment is classified as

Primary – using the earth’s natural resources e.g. farming

Secondary – working in factories; manufacturing

Tertiary – industries that provide a service from taxis to schools.

Key Question 1.2: How and why do patterns of employment structure vary in contrasting regions and countries?

In the U.K. 
The SE region around London has many tertiary workers. Here there are many offices and headquarters of companies and the government. There are many financial jobs in the ‘City’.

Coastal areas like the SW have many tertiary jobs = many connected with tourism in holiday resorts.

Rural areas like Powys have a higher level of primary jobs than other more urban places like Cardiff. In a rural area there are more farmers and foresters. The figure for Powys is about 10% Primary – which although low – is much higher than the UK average of 2%.

Across the World:
M.E.D.C.s are More Economically Developed Countries and tend to have few Primary workers and many tertiary workers.

L.E.D.C.s are Less Economically Developed Countries and tend to have many Primary workers and few Secondary and Tertiary workers.

The employment structure information can be shown in graphs like pie charts and divided bars. We also look at different types of employment like formal and informal. We cover gender issues about the proportions of male and females in different types of work.

Key Question 1.3: How and why do employment structure patterns change over time?
In the UK: 
Places like Wales have lost Primary jobs as coal mines have closed. Heavy Secondary industries like steelworks have also closed. More jobs have been created in tourism and in light engineering factories.

In most UK regions in the last 50 years - manufacturing jobs have been lost steadily and Tertiary jobs in services like offices, ICT, health care and tourism have grown.

Across the world:

Employment structures of all places change over time. N.I.C.s or Newly Industrializing Countries (like Taiwan and South Korea) have undergone rapid change from LEDC to MEDC and have had a rapidly growing secondary sector.
Technology is changing the way we do business as the table below shows.
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Factfile for Mauritania

Use the information below to help you in your decision

Information about fishing

There are 15 fish processing factories in Mauritania
Most fish is directly exported from EU fishing boats
Most traditional fishing boats are in poor condition

Mauritania has some of the world's richest fishing grounds

Information about steel making

Iron ore was 5% of Mauritania’s export earnings in 2003
There are enough proven reserves of iron ore for well over 20 years
Poor road and rail links make transport to the coast difficult

World demand for steel is rising

Information about tourism

Mauritania has little tradition of tourism
Mauritania’s government now advertises tourism
There are cultural and historical sites in the desert
Travel within Banc d’Arguin National Park is difficult
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Development
Assessing a country's level of development

You need to recognise the importance of GNP (gross national product) and learn how other indicators, used together, can give a more accurate picture of development such as HDI (human development indicator).

The most important indicators of development are GNP and HDI. GNP is a measure of how wealthy the country is and HDI takes a range of indicators into account.

The development indicators are:

Birth rate: the number of births per year per 1,000 people.
Death rate: the number of deaths per year per 1,000 people.
Population growth rate: the difference between birth and death rate.
Life expectancy The age you can expect to live to.
Adult literacy: The % of the adult population who can read and write.
Infant mortality: The number of infants who die before their first birthday, per 1,000 births.
GNP per capita: Gross national product is a measure of the amount of money a country makes from selling its products and services, divided by the total population and usually given in $US
HDI 

Human Development Indicator is calculated by using GNP and a range of other indicators to give a more accurate measure of development.

The development indicators in a table are very general and based on averages. Although comparisons and assumptions can be made you need to remember that within every country there are usually many differences.

North and South (Brandt line)
MEDCs are countries which have a high standard of living and (usually) a large GDP. LEDCs are countries with a low standard of living and (usually) a much lower GDP.

The following map shows the locations of most LEDCs and MEDCs. Notice how most of the southern hemisphere is less developed, while most countries of the northern hemisphere are more developed.
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The North/South divides between MEDCs and LEDCs 
World interdependence
Interdependence: When one or more country may relay on each other to function within business, politics and other aspects of society.

Outsourcing to India
Many companies from the UK and USA set up many of they call centres in India (OUTSOURCING). There are many reasons why British and American companies do this:-

· Cheaper labour costs

· Highly qualified work force
· High demand for jobs

· Increased profits

Outsourcing is process that has only started in the last decade, this is because of development of technology such as INTERNET has allowed this to happen.
International trade and aid
Trade – Japan
Aid – Mali and Niger
Trade
Trade: The buying and selling of goods and services 
Import: Goods and services bought by a country from other countries.

Export: Goods and services produced by a country and sold to other countries.
TNC's: Trans National Corporations. These are large companies that have branches and/or markets in many locations worldwide. Example Ford 

Trading blocs: Are when several countries group together to try and increase the amount and value of their trade. The EU is an example. 

Trade balance: The difference between a countries imports and exports. 

Trade deficit: When a country imports more than it exports 

Trade surplus: When a country exports more than it imports
Aid
Aid: When resources are given to a country by another country or organisation in order to help, provide assistance & support.
Bilateral Aid: given directly by the government of one country to another.

Multilateral Aid: assistance given to poor countries through international organisations such as the World Bank or IMF.

Voluntary Aid: comes from charities such as Oxfam, Water aid, Medicines sans Frontiers.

The location of economic activities
Secondary economic activity – Port Talbot steel works
Tertiary economic activity – McArthur Glen Retail Park
Key questions
Who makes the decisions about the location of economic activities?

What factors influence the chosen location?

Why have the location of different economic activities changed?

Multinational companies (MNCs) and globalisation
Toyota – Burnaston Derby
Transnational corporations (TNC’s) or multinational companies (MNC’s): are very large businesses that have offices and factories all over the world.  The headquarters and main factory are usually located in developed countries, particularly the USA and Japan.  Smaller offices and factories tend to be in the developing countries. 
Advantages and Disadvantages of Multinational Corporations.

Advantages:
Creates employment (work) and uses local labour

Improve education and work skills of locals

Provides money for industrial projects

Help develop mineral wealth

Improve energy production

Improve roads, airports and services

Provide technology and know how

Provide trade links with other countries

Disadvantages:
Local labour usually poorly paid

Few local skilled workers employed

Most of the profits go overseas

Minerals are usually exported

May need to import raw materials

Products often of little value to local people

Companies may pull out at any time

Rarely consider the needs of the country
Economic activity and the environment

Hope Quarry
Problem solving matrix example
This section is one and a half hours and will contain content from 2 of theme 3 themes
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Problem solving matrix example

This section is one and a half hours and will contain content from 2 of theme

3 themes

You are advised to spend about 45 minutes on this part.

In this part you will advise the government of Mauritania how to develop its economy for a sustainable
future.
The government of Mauritania is keen to evelop the country. How they choose to do so must be

sustainable and improve the qulity of lfe for the people of Mauritania. They have asked for a report on
how they might best do this from the following three options:

« sellfishing rights in the future
«  increase steel production
« promote tourism.

Use the Factfile on page 8 of the Resource Booklet, other information from the separate resource

booklet and ideas of your own to complete the matrix on page 10 to help you organise your ideas.
‘Some of the matrix has been completed for you. You must explore all three options and refer 1o their

potential positive and negative effects.
You should spend about 20 minutes completing the matrix.
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Links
www.mrjohnstonsgeog.wordpress.com
Theme 1: Challenges of living in a built environment
1. Quality of life and standard of living

· http://www.bbc.co.uk/learningzone/clips/mumbai-pt-

 HYPERLINK "http://www.bbc.co.uk/learningzone/clips/mumbai-pt-2-3/5913.html" \t "_parent" 2-3/5913.html  (Mumbai)

· http://www.bbc.co.uk/learningzone/clips/report-on-

 HYPERLINK "http://www.bbc.co.uk/learningzone/clips/report-on-poverty-in-india-2004/3210.html" \t "_parent" poverty-in-india-2004/3210.html (rural India)

· http://www.bbc.co.uk/learningzone/clips/a-family-

 HYPERLINK "http://www.bbc.co.uk/learningzone/clips/a-family-move-from-london-to-the-outer-hebrides-in-search-of-a-better-quality-of-life/3211.html" \t "_parent" move-from-london-to-the-outer-hebrides-in-search-

 HYPERLINK "http://www.bbc.co.uk/learningzone/clips/a-family-move-from-london-to-the-outer-hebrides-in-search-of-a-better-quality-of-life/3211.html" \t "_parent" of-a-better-quality-of-life/3211.html (rural - urban England)

· http://www.bbc.co.uk/learningzone/clips/why-do-

 HYPERLINK "http://www.bbc.co.uk/learningzone/clips/why-do-people-leave-the-countryside/519.html" \t "_parent" people-leave-the-countryside/519.html (rural urban)

2. Inequalities in housing (Swansea transect)
3. Inequalities in service provision (Shopping)

4. Changing a service (Regeneration)
· http://www.youtube.com/watch?v=CwNWf7oTJjk 

5. Planning issues (Sustainable living)
· http://sustainablecities.dk/en/city-projects/cases/curitiba-the-green-capital 

· http://www.geographypages.co.uk/curitiba.htm 

6. Urbanisation and counter urbanisation (Migration)

· http://www.youtube.com/watch?v=HuPWCovsGeM
· http://www.youtube.com/watch?v=jpwGBRy-8Z0
7. Problems of leisure in a rural area (National Park)

Theme 2: People and the natural world interactions

1. Contrasting pressure systems and people

· http://www.youtube.com/watch?v=e3Gb1KXfGc0&feature=fvst 

· http://www.youtube.com/watch?v=s76Qn7bpCsQ 

· http://www.youtube.com/watch?v=EQQzvS-3Miw 
2. Climate change

3. Changing ecosystems

· http://www.bbc.co.uk/schools/gcsebitesize/geography/ecosystems/biomes_video.shtml 

· http://www.bbc.co.uk/schools/gcsebitesize/geography/ecosystems/trop_rainfor_video.shtml 

· http://www.bbc.co.uk/schools/gcsebitesize/geography/ecosystems/human_rain_video.shtml 
4. Water supply

5. Water deficit

6. Water surplus 

7. Interdependence

8. Landform development 

· http://www.bbc.co.uk/schools/gcsebitesize/geography/coastal/coastalprocessesrev1.shtml 

9. Landforms and people

Theme 3: People, work and development

1. Employment structure

· http://www.youtube.com/watch?v=Gv8pmIr3a7k 

· http://www.geogonline.org.uk/gcse_pwdtechnology_match.html
2. Development

· http://www.bbc.co.uk/schools/gcsebitesize/geography/development/contrast_devel_video.shtml 

· http://www.bbc.co.uk/schools/gcsebitesize/geography/development/factors_devel_video.shtml 
3. World interdependence

4. International trade and aid

· http://www.bbc.co.uk/schools/gcsebitesize/geography/development/aid_video.shtml 

· http://www.bbc.co.uk/schools/gcsebitesize/geography/development/trade_video.shtml 

5. The location of economic activities

· http://www.geography.learnontheinternet.co.uk/gcse/industry.html 

6. Multinational companies (MNCs) and globalisation

· http://www.bbc.co.uk/schools/gcsebitesize/geography/industry/globalisation_video.shtml 

7. Economic activity and the environment

General revision links
· http://www.ngfl-cymru.org.uk/eng/vtc-home/vtc-ks4-home/vtc-ks4-geography 
· http://www.geography.org.uk/ 







